2000 5.83 1.00 3.60 7 2.0

T A e e I 40T T 10 ——
At Sl - A r 4 b 1
[ ] 8k .
ofF - r ] t i
— Q<><><>0<>OOQ 8 , L J
o S L 4
g 86685 ¢ r 1
< L i
= : 2 8&S 6% - T 1 -
« S ! 1 5 f I 7
= ] L ] r 1
>n 1 [ ] L 4
10F 7 [ ] L = |
] r 1 4 ‘ 7
15F E r 1 [ ]
o) E N N B S B R B 0. e ] 2 S P B
0.0 02 04 06 08 1.0 . . . . 25

K [mag]

— phase ¢y
=
N
o
z
:
ES
g
Q
£
=
o
o
B
£
0E . . . ) =
1.0 T T T - —
8 os— 4
S - =
T os— —
.9 [ .
O e ot o o S L o e A S A N N L A VA o 1 L P =
] C 3
§ [0 e A S SR —
0,0: L L L L =
0 100 200 300 400
time [yr]
,85; T T T T T T T T T T % 5)(1075:7 T T T T T 3
,8,4? : 0.54 é E, 4)(1075; E
= IR I T 2600 K
-e2p ool 87 3 gL 3.85 Lg
EE eglee 1 8 2a0t 4 Mass 1.00 Mg
E o, B ERN E 3
-8.0F CERE El E 3
ey 1B oo 3 1g(C-0) 8.80
-7.9F . . E E El
: i C/0 2.38
-7.8E L L L L L L L L L L 3 (e)=+
S — g =
. | | : ; AT 2 km/s
L "5 1.31 ' ] _ i f 2.0
i 8 : : 1 Ysop =
_-s5[ ’ 5 ‘ 1 £ ¢ i class wn
£ o o 1 Zaf 3
- wo 1 s i Mdot 2.95 £ 3.10 -107° Mg/yr
—Sor ool ] g 1ok E R 27.50 + 3.80 km/s
[ o ] R 3 feona 0.328 + 0.087
i g ] ; 1 po/p, 1838107
e ——— = =) Period  390.d = 1.068 yr
e T T T T T 06F 3 Radius 424 Rg
E C ‘ E 3 logg -0.81
E & . 3. . E 05F E|
E | : E T 04F E
= 2F ' a ' E © E 3
g ¢ Lo ] E 8 03E 3 Colour mean / min / max / range
E O ! 15 %% 3 (B-V) 342 288 3.82 0.94
Z3F o g : ERE - 1 (v-I) 476 388 534 1.46
E whg ; E-A T (V=K) 11.23 9.04 12.49 3.45
b 1B ‘ R 3 (J-H) 175 139 194 054
E ! ! E o1E 2 (U-K) 3.0 253 3.42 0.88
E E i (H-K) 1.35 113 149 0.36
5E I I I I E| 0.0 . I L L L =
179 181 196 200 180 185 190 195 200

time [yr] time [yr]



Note: Time increases downwards. Scales OK for last curve (bottom black)
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